Homework 2:  Games, Constraint Propagation


[This came from Andrew Moore’s AI Class at CMU.  

The assignment was written by a student whose name I will figure out and credit here.]
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1 Game trees

Consider the game described by the following game tree. Each node is labelled
by the player who moves next. Player A seeks to maximize the outcome, player
B secks to minimize the outcome. The value of the leaf nodes is indicated in
the node.

Al

Y 14
L1:+1 L2:+2 B3 L4:-1 L5:0
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1.1 Minimax search (8 points)

For the game tree shown above, find the minimax value of each internal node
of the tree. Write your answer in the form of a table. An example answer (with
random numbers) follows.

AL 45
Bl +2
B2 -4
A2 40
A3 -7
A4 +3.14
B3 -1.61
A5 +2.72

1.2 Alpha-beta pruning (12 points)

For the same game tree shown above, show the sequence of calls that alpha-beta
pruning (as described in the notes) makes to Max-Value and Min-Value. Include
the values of all parameters to the call and indicate the return value of the call
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